
(uruunturn{u:& h $al( hnqupurpdnLUbp[ funphnryh ph{ 10 trfiuLnnrd, ph4 37 npn2tlurdp

9rl( hnqu prup6nrtrbpfr fu nphprlh t'

bLn.lutr

"gULlUfth rnbSUqUL <UUULUUI'UL" <hULU+nUUh 2021p.
bqULInNSLbnh bLr bUtuUbnh LUtuU<UChLl

(4pudurlurtr dhgngLbph dnrmpbp tt bpbp)

'16 hnLtrrlurp 2021p

(nrpriu6 2021p
l-rr-ufuurmbudru6

Ubuqnnnn tun 1-p hnrtrdrunh 71 093,5

[fn - hru

1 b [1 ur rl n rLntr b p {6 ur p n r{fr n ru n rg d urL 6r,r-r nr-u1 n rp1 n tL I g 240 944,0

2 b L1 ur d n rmtr b p q b rn u ! urlr p1 n r2b fr g u un ur g r{ur 6 $ frL ruL u ur r{n p n rrl fr g 72 979,8

3 9n p6ru nL u L1 urL tul 1 b!ur rlnLLnL bp ftg 3 000,0

4 fl1 qnp6urntruIr.utr bt4utlnrunLbp 37 369,0

Ctr4rudbtrp rlnnnpbp 354 292,8

-h 4nud
1 Uu fu ur rn urLBh d u nh ur Ln p n rBl urtrl n rn n ul n n 6utuu bn 314 600,0

2 116 ur p n uJtr bp q bm ur ! urtr p.; n r2b, ur1 r1 p{n rd 3100,0

3 urnrlnLLur1 {6urpLbp 16 370,0

4 <Dnurnu.;lrL U Uuqh {6upLbp 1 421,6

5 Uq p ruLpurtrl n rpur ! urtr q ur2tu pL bp I h bnppbp durtr 6ur [u u bn, n n h g 4125,0

5.1 $nuubtrrLuUurlhtr uruntrtrptrbnh Eufuubn /Lbnunrur UnBnLBrr.uL [r qhLntuhbLnurr 2 300,0

5.2 Ctr Buqhtr L nn nqdurtr ur q n r,utrBtr bn h tr tr tn rBbn h 6u fuubn 800,0

5.3 Urr 6uluubn 1 025,0

6 Sp urtr u q np rnurl frtr tlh2ngL bp fi 6ur fu u hp 3 981,5

7 Uu nru.; n rp1 n rtrL bp fr [r ur2fu ur rn urLptr bp [ 6u; [u u bp, n p fr g 9 630,0

7.1 Sq ru qntu [.lurtr 6ur fu ubn 400,0

7.2 ljuunBbphLqh h qnlluqh 6urluubn 650,0

7.3 Urr &u nur r n uarn LLtr bn h Lr tu rlu tr m uLptr bn h d bnppbn LIuL 6ur lu ubn I 580,0

B th Ln ur h bLn urq nm ur U urtr qn n6n rL bn LBt n LL 3 800,0

9 Gbn Bbn h [r r.u du r-r.rqn bn h pr.r:durL n n nr.uqn n LBg n rL 212,7

10 !ppuluL prupbf nfunrdtrbp[ h llupfrbpurlfi lbLunpnL[ dutfuubp 300,0

11 Lbplrulurgnrglrutlurtr tr qnp6nrpluL dufuubp 400,0

12 fl ru tuL n rlur ! utr frLptr tu L1 u nru Llru p rLutr d u.r p rI [tttt bp ]t 6ur fu u b p 650,0

13 U11 6urfiuubn, u{q pr{nul' 10 650,0

13,1 (hdtru nnurrjtrbnh, (\-trbnh hbm L uu tt hurdruqnn8u ltqntBtnrtrUbnh 6urfu ubp 750

13,2 U2fu u Ln udn r1n {tr bp ir, qirunru dnrln{tr bp I tr u1 1 dfign g u nn rdtt bp [ 6u fuu bp 500

13,3 rlnurdurrtrnnhLbnh ntrBurqhU 6uluubn 8900

13,4 Qpu4ur putru thtr &u fuubn 500



14 .tu6 ur nru ! bun fr u q ur u u p 1.1 durtr tr r{u6 ur nrln 11 ur q p tutrpL bn h 6ut fu u bp 400,0

15 9pBruBn2utl B 587,5

[L4uribtrp ntrpughq 6upuhp 378228,3

1 9urqfimu1 urlun JrtlLbpfr dbnp pbpnul 25 920,0

2 bLpbn tltur4frLn ru 1 trn p nqn ultr bp I q6n{ 3 300,0

Ctrrpudbtrp LlurqImu1 6Lufuubp 29 220,0

Ctrrludhtrp hpbn [uqJrmul tr ptrpugJtQ 6tufuubph qtntl 407 448,3
un m u ndn upF { npundEpF urq4ugn tPJn ]u[ rln uuuL{tuu uF2nguultn u

qnuLg hurftupdhpbbp[ {ptu 0,0

'tluhn rum u$nb4JtL n rrlq{nq dh2ngtrbp 7 228,3

LJLr"ugnpry 10 709,7

ftb!Lnnp

$LfuruL{np h

l-l-.fu. (ullnplurtr

9.9. UnLpur4lnrtr
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